MODEL #

FM7252-EK

Questions?

GIVE US A CALL: 1-888-980-5122

MON-FRI 8:30AM - 5:30PM (PT)

Q0

EASY

DIFFICULT

5-point system showing the
level of effort needed to
assemble a specific product.

The Assembly Rating is a

VERSION #24-06-28



BerenyceV
Typewritten Text
VERSION #24-06-28











KING BED

PARTS
@1pc @1pc @1pc @chs @1pc @4pcs

L SN

HEADBOARD HEADBOARD HEADBOARD SIDERAIL FOOTBOARD CENTER RAIL
POST (LEFT) POST (RIGHT)

@ 8pcs 2pcs @ 2set

mﬁmﬁﬂ@

CENTER RAIL FOOTBOARD LEG SLATS
SUPPORTER

HARDWARE
HARDWARE INSIDE HEADBOARD

pcs 10pcs @mpcs @1pc @1pc
= A

JCBC M6 X 35mm Lock Washer Flat Washer Allen Key M4 Adapter

HARDWARE INSIDE FOOTBOARD SIDERAIL

@28pcs @Spcs @Spcs @8pcs @1PC ®1DC
= o A TA

TRUSS HD C/B JCBC M6 X 45mm Lock Washer Flat Washer Allen Key M4 Allen Key M5
M4 X 25mm




FM7252-EK is packed in 2 cartons

Carton Description Hardware
FM7252-EK-HB X1 A x10pcs
HEADBOARD @
@ B x10pcs
HEADBOARD POST X1 € x10pcs
(LEFT) @ f: D x1 pc
gﬁ E x1pc
HEADBOARD POST X1
(RIGHT) @
FM7252-EK-FBR X2 swme()  F x28pcs
SIDERAIL @ 7
G x8pcs
X1 (&) H x8pcs
FOOTBOARD @ | xBpcs
— J x1pc
X4
CENTER RAIL @ \ j— Kxipe
X8
CENTER RAIL SUPPORTER @
= X2
FOOTBOARD LEG .
X2

SLATS

(©




ASSEMBLY INSTRUCTIONS

Align the headboard post (#2L,#3R) to the
1 headboard (#1).

Part (1)x1pc N
Part (2)x1pc [ o
Refer to the label on the headboard |
Part @X1 pc support to match the label on the N @
~_ back of the headboard. \\

~

\
/
A

Part(1)x1pc

Part(2)x1pc

Part (3)x1pc

Hardware (A) x10pcs

Hardware (8) x10pcs Use allen key (#D) to attach

Hardware (c) x10pc headboard post (#2L,#3R) to the

Hardware (D) x1pc headboard (#1) by using screw
assembly of screw (#A) with lock
washer (#B) and flat washer (#C).



BerenyceV
Rectangle

BerenyceV
Typewritten Text
Refer to the label on the headboard 
support to match the label on the 
back of the headboard. 


BerenyceV
Text Box
Align the headboard post (#2L,#3R) to the headboard (#1). 

BerenyceV
Rectangle

BerenyceV
Text Box
Use allen key (#D) to attach headboard post (#2L,#3R) to the headboard (#1) by using screw assembly of screw (#A) with lock washer (#B) and flat washer (#C).


ASSEMBLY INSTRUCTIONS

Part (5)x1pc

Part (8)x2pcs
Hardware (G) x2pcs
Hardware (H) x2pcs
Hardware (1) x2pcs
Hardware () x1pc

Use allen key (#J) to attach
footboard leg (#8) to footboard
(#5) by using screw assembly of
screw (#G) with lock washer (#H)
and flat washer (#1).

4-2 Hook screw plate attached on
the side rail (#4) onto the Truss

screws and use allen key to tighten
4 the Truss screw and secure the side
rail (#4) to the headboard post (#2,
Part (1)x1pc #3) and footboard (#5).

Part (4)x2pcs
Part (5)x1pc

‘? Touch
Hardware (K) x1pc gl  Controller
i I’
4 ]
74
Touch )
Controller ;-i

4-1 Loosen the Truss
screws on the headboard
post (#2L,#3R) as well as
the Truss screws on the
footboard panel (#5).



BerenyceV
Rectangle

BerenyceV
Text Box
Use allen key (#J) to attach footboard leg (#8) to footboard (#5) by using screw assembly of screw (#G) with lock washer (#H) and flat washer (#I).

BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Text Box
4-1 Loosen the Truss screws on the headboard post (#2L,#3R) as well as the Truss screws on the footboard panel (#5).

BerenyceV
Text Box
4-2 Hook screw plate attached on the side rail (#4) onto the Truss screws and use allen key to tighten the Truss screw and secure the side rail (#4) to the headboard post (#2, #3) and footboard (#5). 


ASSEMBLY INSTRUCTIONS

5

Part (6)x4pcs
Part (7)x8pcs
Part (9)x2set

Align the center rail
(#6) on the slats (#9)
and secure together by
twisting the center rail
support (#7) until tight.

6

Part (9)x2set
Hardware (F) x28pcs

Hardware (G) x2pcs
Hardware (H) x2pcs
Hardware (1) x2pcs
Hardware (v) x1pc

Touch
Controller

-\

6-1 Use allen key (#J) to attach the
footboard leg (#8) to the side rail
(#4) by using screw assembly of
screw (#G) with lock washer (#H)
and flat washer (#1).

S SEAS SEAS TEAS SE AL T A

Remark :
Adjustable

6-2 Extend the slats (#9) over
the side rail (#4) and secure by
using screw (#F). Tighten with

screwdriver(not included).
Touch

Controller ﬁ



BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Text Box
Align the center rail (#6) on the slats (#9) and secure together by twisting the center rail support (#7) until tight.

BerenyceV
Text Box
6-1 Use allen key (#J) to attach the footboard leg (#8) to the side rail (#4) by using screw assembly of screw (#G) with lock washer (#H) and flat washer (#I). 

BerenyceV
Text Box
6-2 Extend the slats (#9) over the side rail (#4) and secure by using screw (#F). Tighten with screwdriver(not included).


ASSEMBLY INSTRUCTIONS

connector on the headboard

7 Connect the attached power
to the power adaptor (#E).

Hardware (E) x1pc

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

10


BerenyceV
Typewritten Text
This product is intended for RESIDENTIAL USE ONLY and not for commercial use. 

BerenyceV
Rectangle

BerenyceV
Text Box
Connect the attached power connector on the headboard to the power adaptor (#E).  




